N (107" erg cm™%787")

f) (107" erg cm™%7'87")

1, (1077 erg em™%7'87")

f, (1077 org cm™%~'87")

rm510 NLR 3204n 3204.07

S/N —0.00463

WinHW 800 km/s 3194 3214
ms 0(475*7‘4) | | | | |
mad 0(406+72)
avg —8!-1(—15*165)' | |
med —B07(—23+235)
top —807(—97+562) | |

0.5

T
Fcgs 0.0(2.5)E-1§

—0.0(2.5)E—1
fwhm 69(681+553)

velocity (km/s) z=0.710080
rm510 NLR 3870n 3869.85
WinHW 900 km/s 3858 3881 S/N 168
/ . 2
~ I rms 171(207£21) Fogs 2.721(15B)E-1] -
mad 135(152£11) | 2.849(158)E-1
avg —28(~27116) “ fwhm 341(34011
med —36(-3647)
top —76(-759)
b
o
o
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-500 [ 500
velocity (km/s) z=0.710080
rm510 NLR 4342n 4341.68
WinHW 900 km/s 4329 4355 S/N 1.04
T v
~ L fms 322(369+45) [n Fegs-20(Z4)E-18]
Inad 240(283£41) ! 25(2.4)E-18
vg —129(—97467) | |i fwhm 278(372+140)
ned —77(~77£41) |
lop —51(—5648) | | :
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velocity (km/s) z=0.710080

rm510 NLR 4960n 4960.30
WinHW 900 km/s 4945 4975

S/N 183

T T
rms 195(210+19) Fegs 7.1
mad 143(151+10) 7.

1 avg —37(-29215) fwhm
med —43(—4045)
top —86(—8516)
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o

o

' -500 [}
velocity (km/s) z=0.710080

B5(42)E-1
73(42)E-1
331(3305,

BLR 10260 NLR 900 km/s BLR 10260 NLR 900 km/s BLR 10260 NLR 900 km/s

BLR 10260 NLR 900 km/a

N (1077 erg em™25"'8"")

m510 NLR [NeV] 3346.82

WinHW 800 km/s 3337 3357 S/N 0.729
T T T —
« ||rms 197(426271) || | ] Foge 2.1(2.2)E-18] ]
mad 149(351:+66) | 1.6(2.2)E-18|
£ favg —25(-20¢130) 1 I | fwhm 306(622+375)
=t med —40(-36+141) |
1
top —103(—63+354; |
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= |
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velocity (km/a) z=0.710080
rm510 NLR 3969n 3968.58
WinHW 800 km/s 3857 3881 S/N 3.64
T — -
« ||rms 202(209+44) |I | Fege 5.70(1.44)E-18|4
mad 147(216+32) I 5.22(1.44)E-18]
£ [ ova 7(14549) [l fwhm 335(333430)
o med 22(25+22)
1
o ltop 33(31+22) | ||
E
o
=
o
S
3
Z
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velocity (km/s) z=0.710080
rm510 NLR 4384n 4364.44
WinHW 800 km/s 4351 4378 S/N 1.71
T T
« ||rms 270(369:+58) ] Fegs 3.8(T8)E—18(
mad 185(28252) 3.2(1.9)E-18
£ [ova —31(8:84) 11 fwhm 303(3812159)
o med —56(-34+51)
1
top —100(—6977,
o o [ [top —100¢ ) 1|
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o
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~
T
o
Z
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velocity (km/s) z=0.710080

rm510 NLR [OIT] 5008.24

WinHW 900 km/s 4993 5023 S/N 89.4
- T T - ]
T fms 173(175+4) | Fogs 2.628(29)E—1
thad 135(1362) | 2.627(29)E-1
dvg —39(—40£3) : fwhm 334(334+
thed —43(-43+1)
¥ I thp —70(~70+0) | 1
|
!
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velocity (km/s) z=0.710080

BLR 10260 NLR 900 km/s BLR 10260 NLR 900 km/s BLR 10260 NLR 900 km/s

BLR 10260 NLR 900 km/s

f\ (107" erg ecm™2%787")

f) (107" erg ecm™2%~'87")

f\ (107" erg cm™2%~'87")

f\ (1077 erg em™%7'8"7")

0.5

0.5

0.5

0.5

rm510 NLR 3427n 3426.84

WinHW 900 km/s 3417 3437 S/N 1.56
T T -
rms 260(36353) T Fogs 4.4(23)E—18
mad 177(276247) 3.6(2.3)E-1

| fwhm 277(336+127]

avg 11(27+75)
med —24(—10£43)
top —76(—44+50) | |

L

velocity (km/s) z=0.710080

rm510 NLR 4074n 4073.63

[ fns 5044452577 | | |
ad 520(421+75) |
vg 36(—9+172) | |
od 160(—18+246)

p 692(—41+574) | |

| | -0.0(1/9)E~1
| | fwhm 901(725+561

WinHW 900 km/s 4061 4086 S/N —0.0144
r b

velocity (km/s) z=0.710080

rm510 NLR 4887n 4687.02

S/N 0.196

Foge 0.8(2.8)E—1
0/5(2.8)E-1
fwhm 781(666+533)

WinHW 900 km/s 4673 4701
™
rms 447(467+75) | I
mad 373(399+73)
avg —114(—24£157) | | | |
med —47(~24£227)
top 60(—118+534) | |

500
velocity (km/s) z=0.710080

rm510 NLR 5201n 5200.53
WinHW 900 km/s 5185 5216

S/N —0.00473

[| Fegs 0.0(4.4)E—18
-0.0(4.4)E-18
| | fwhm 69(682+579)

fms 0(469154;) | | |
Inad 0(398+76) |
hvg —B73(144:179) | | |
Ined —838(15245)

op —838(63£574) | |

Il LLLI

-500 [}
velocity (km/s) z=0.710080

500

BLR 10260 NLR 900 km/s BLR 10260 NLR 900 km/= BLR 10260 NLR 900 km/=

BLR 10260 NLR 900 km/s

N (107" erg em™2~271)

N (107" erg em™2~'871)

N (107" erg em™2~1871)

N (1077 org em™%"18"7")

0.5

0.5

0.5

0.5

rm510 NLR [0I] 3728.48
WinHW 900 km/s 3717 3740

S/N 23.4

T -
rma 181(208414) [

mad 152(165+7)
ovg —20(—22+11)
med —18(-19+6)
top —33(—10+33)

I
|
|
|

fwhm 467(484+12)|

08 5.02(21)E-17
4.92(21)E-17]

velocity (km/s) z=0.710080

rm510 NLR 4103n 4102.89
WinHW 900 km/s 4091 4115

S/N 2.11

T 1
rms 245(335+47) !l
mad 167(242+38) |

!
avg —75(—4156) NIt i
med —71(-64+18) |
top —73(-73+0) " |

Fége-3:69(1.65)E—18 -

fwhm 221(223+2¢

3.28(1.55)E-1

—500 °
velocity (km/s) z=0.710080

rm510 NLR 4863n 4862.68
WinHW 900 km/s 4848 4877
T

s/N 6.17

velocity (km/s) z=0.710080

rm510 NLR 5721n 5721.11

chs 24 B4(44)E—1 7

fwhm 319(322+28)

2.74(44)E-17

S/N 0.443

WinHW 900 km/s 5704 5738

T
| s 300(426+79)
ad 208(336+78)

| l’cq; 2.7(4:6)E=~

| f\1hm 233(444+307)

i

2.0(4.6)E—

-500
velocity (km/s) z=0.710080

BLR 10260 NLR 900 km/s BLR 10260 NLR 900 km/s BLR 10260 NLR 900 km/s

BLR 10260 NLR 900 km/s



